CSC 249	HW 8 Solutions	Due Nov 12, 2012
Chapter 4 – Network Layer – Questions
[bookmark: _Toc224622557]Problem 37
[bookmark: _GoBack]Note: The use of BGP for going through an AS (autonomous system) is for situations in which the AS is in between the source and ultimate destination hosts. Typically only a few routers within an AS would be running iBGP, to get the packets from one side of that AS to the other. The figure you have for the HW doesn't have all the routers that would actually be in one AS. So for this problem all the routers shown would potentially be running BGP. In a real AS all the other routers (those not shown) would only run either RIP or OSPF, and be for strictly intra-AS routing. As BGP determines and shares best routes, and has ‘peering,’ and other elements we did not stress in class, there could be more depth to this problem. But for what we did, the first pass, simple answers are below.

a) eBGP, since 3c is the border gateway router that receives this information from AS4.

b) iBGP, since 3a receives this information from 3b – a router within the same AS.

c) eBGP, since 1c receives the information from 3a in AS3, a different AS from its own.

d) iBGP, since 1d receives the information from routers within its same AS.


[bookmark: _Toc224622558]Problem 38
a) I1, because this interface begins the least cost path from 1d towards the gateway router 1c.

b) I2. Both routes have equal AS-PATH length but I2 begins the path that has the closest next-hop router.

c) I1, since I1 begins the path that has the shortest AS-PATH.


Chapter 5 – Link Layer – Questions
[bookmark: _Toc224829531]Problem 17
With the wait time = K * 512 bit times, the total wait is 51,200 bit times. 

· For 10 Mbps, this wait is


msec

· For 100 Mbps, the wait is 512 μsec.
[bookmark: _Toc224829532]Problem 18

Host A
· At t = 0, A transmits. 
· At t = 576, A would finish transmitting. 

Host B
· In the worst case, B begins transmitting at time t=324, which is the time right before the first bit of A’s frame arrives at B. 
· At time t = 324 + 325 = 649 B's first bit (corrupted) arrives at A. 

Ultimate Result
· Because 649 > 576, A finishes transmitting before it detects that B has transmitted. 
· So A incorrectly thinks that its frame was successfully transmitted without a collision.
· !
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